AHI#BISRX

SF4F9/8258(H)
E 4z K £ 7ok 1 > r—#%JL | HDCP ESVI RAVb
B B FIER 93T 45 41 86 17.0 69.0 400
EEB A X 47 41 88 19.0 69.0 300
3L BH = 45 47 92 23.0 69.0 200
AL #A B 42 42 84 14.0 70.0 100
541 £ F 46 47 93 22.0 71.0 100
64z ERK BE 49 49 98 25.0 73.0
741 TE & 48 42 90 16.0 74.0 90
841 tE =F& 42 48 90 16.0 74.0
9fL g & 45 47 92 17.0 75.0
104z B @l 51 50 101 26.0 75.0 75
114 I EEX 45 48 93 17.0 76.0
124 I Z=EE 52 51 103 27.0 76.0
134z Br[&R  f2—ER 54 50 104 27.0 77.0
144 2l BRX 45 48 93 15.0 78.0
154 —=E BA 49 51 100 22.0 78.0
164L x5 ®HE 50 45 95 16.0 79.0
1741 R#E 12 49 46 95 16.0 79.0
184 nEx H 47 48 95 16.0 79.0
1941 Hig F— 47 49 96 17.0 79.0
201 F#E =PMHER 48 47 95 15.0 80.0 60
214 =HiE Mt 45 49 94 14.0 80.0
22431 1k MBX 45 49 94 14.0 80.0
23131 HiE EH 44 52 96 16.0 80.0
24431 <5 1B 46 55 101 20.0 81.0
25431 E% #ia 52 52 104 22.0 82.0
2613z ARAD =R 51 55 106 24.0 82.0
271 AR B 51 47 08 15.0 83.0
28131 =R E# 46 51 97 14.0 83.0
29131 BRE R 48 52 100 17.0 83.0
301 ki E{E 49 49 08 14.0 84.0 60
3141 LA EE 55 50 105 21.0 84.0
26 | AREK E/N\H 53 58 111 27.0 84.0
33 NI 51 48 99 14.0 85.0
3443 FAE HE 48 52 100 15.0 85.0
351 ERK & 48 52 100 15.0 85.0
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SF4F9/8258(H)
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361 o Ea 51 55 106 21.0 85.0

374 =k BE 64 47 111 25.0 86.0

38{i AT HiE 51 51 102 16.0 86.0

391{iz = Bt 53 49 102 14.0 88.0

401L FiI {88 57 56 113 23.0 90.0 60
BBE A0 fEx 57 64 121 28.0 93.0 90
42431 R FHE 54 56 110 15.0 95.0

N R FIER EF

ABEELL Il EF 45 44 89 18.0 71.0




